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TNPSC GROUP IV - TEST BATCH 2024
TEST XVIII - HOME TEST (TAMIL, GENERAL SCIENCE, MATHS)
APTITUDE & MENTAL ABILITY - SIMPLIFICATION

1 metric ton is equal to

a. 100 quintals b. 10 quintals c.1/10 quintals
d. 1/100 quintals e. Answer not known
Q@ Gl M L6 eremg
a. 100 @alei_med b.10 @alen_med c.1/10 @alenmed
d.1/100 @elen_mev e. alewL OgMwalsdensv
Match the following:
Column I Column II
A. Length 1. Kelvin
B. Mass 2. metre
C. Time 3. Kilogram
D. Temperature 4. second
QUT(HSHHIH:
BuBLlwed Sl6e] SI 9606
A. permb 1. Qms0aier
B. menms 2. 8L
C. &meuid 3. &Geurdymibd
D. Gesutiupleneo 4. by
A B C D
a 2 3 4 1
b. 2 3 1 4
C. 1 2 4 3
d 4 3 2 1
e. Answer not known

Assertion (A): 0 °C = 273.16 K. For our convenience we take 273K after rounding off the
decimal

Reason (R): To convert a temperature on the Celsius scale you have to add 273 to the given
temperature

a. Both (A) and (R) are true but (R) is not the correct reason

b. Both (A) and (R) are true and (R) is the correct reason

c. (A) is true but (R) is false

d. (A) is false but (R) is true

e. Answer not known

apm (A):0°C=27316 K pmd oms wuw ewienms 273 K eaer aiBdHais Gameré@pmbd
smyenid (R): Ggsvdlued senemen Gssvalen oenalBE LIBBILGLITSI 2732368mL 19aTed CUITSHILOTEIHI
a. (A) wppw R) Grewin af, suemed (R) eeug sflwrer alendshd oieo60

b. (A) wBpd (R) Syewib &M, Gwed (R) ereiug sflwmer alendsid
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c. (A) M gemed (R) seumi
d. (A) seum opemed (R) &l
e. alenL Gafweailedenso

4. Which one of the following is most likely not a case of uniform circular motion?
a. Motion of the Earth around the Sun.
b. Motion of a toy train on a circular track.
c. Motion of a racing car on a circular track.
d. Motion of hours” hand on the dial of the clock.
e. Answer not known
SPHHMIL B0 615 OUBHLOUTEID FImer aul L Suisbsd Hjevev?
a. el Luutenguied Gflwenend &mmsl eumb yiluflesr Suidbsld
b. el L1 umewsuied aBpleudd QuTbeno Fulledest EuidbaiD
C. ULl UTeWSHUWeL OF60ID LIS LS (DHSI
d. wenllenwis &MU B LUled HIQBMIHHGT BUIsbsLD
e. allewL  Gafwalsvenso

5. An empty plastic bottle closed with an airtight stopper is pushed down into a bucket filled
with water. As the bottle is pushed down, there is an increasing force on the bottom. This is
because,

a. more volume of liquid is displaced.
b. more weight of liquid is displaced.
c. pressure increases with depth.

d. All the above.

e. Answer not known

BmeTen eumefluied, STBEMIL LSTH SIenLLILITEITe0 epL LIl L. &16d Llenmerdigds LML 1960 Las]
SPCHTHE DIWPSSHILGSBH. UM 1960 SPCHTHS  HefenILIBGLCLTS, DIFH60T SlLILGSHued
QFweUBD almaswnaig SiHEMNsEHDBE.  OHBHTET SITEID 6l6iT6r?

a. oFle LmaIeTen BT GeueNCuBBLILGE MBS

b. 9ds e ueiien BT GQeueMGUIBBLILGAMBS.

C. b oFHafeGhd CuTgd DLHSHD DFHENES @B

d. GuwBem gmpfur wreyb

e. allewL  Ggfwalsvenso

6.  Match the following.

A. Density 1. hpg

B. 1 gram force 2. Milk

C. Pascal’s law 3. Mass
Volume

D. Pressure exerted by a fluid 4. Pressure

E. Lactometer 5. 980 dyne

QUTHSHHIH:

A. a1 T5HHA 1. hpg

B. 1 &gmb elens 2. UmeL

C. urerasd ailg) 3. Bewm / L(HLD6sT

D. urniiod gBUBSSID DIWHSLD 4. SIWSSLD

E. umevioment 5. 980 emL6dT

o ®
w
&)
-
=
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C. 1 2 3 4 5

d. 5 4 3 2 1
e. Answer not known
7. Rubbing of comb with hair
a. creates electric charge b. transfers electric charge
c. Both (a) and (b) d. neither (a) nor (b)

e. Answer not known

Fllermed Heweu(plgenuiss CHTHIeUHeITeD

a. Tl L MiG6lT © (HeurdhsluGaHemer. b. emenml L misem S 1bGILILITES eT36T.
c.a By b d. @yemiBd 6060

e. alenL Gafweailsdenso

8.  The unit of magnetic flux density is

a. Weber b. weber / metre c. weber / meter?
d. weber. meter?2 e. Answer not known

SMHHL UTW SILTHHUIST D6V

a. Qeuuit b. Qeuuit / SLi c. Geuuim / B2
d. Qeuuf 8L 72 e. alenL  Gafweaisvensv

9. Match the following.

A. Magnetic material 1. Oersted

B. Non-magnetic material 2. Iron

C. Current and magnetism 3. Induction

D. Electromagnetic Induction 4. Wood

E. Electric generator 5. Faraday

QUT(HSHHIS:

A. smhsl QuImeT 1. ouwirerdELL

B. anbsoeveons GLIm(mer 2. &by

C. WenGemm LD BBID &HThHeule) 3. HITEWIL 60

D. Weasnbsd SHmemil 60 4. ogIb

E. Herefluimns 5. c.umgGL
A B C D E

a. 2 4 1 5 3

b. 2 4 3 1 5

C. 1 2 3 4 5

d. 5 4 3 2 1

e. Answer not known

10.  When the reflecting surface is curved outwards the mirror formed will be

a. Concave mirror b. Convex mirror c. Plane mirror

d. None of these e. Answer not known

aHOgTaia@d LG GCeualiypBors auenenbH(HLLIE, DIHTTL 2 (HaUTGHD LY,
a. @Plwimg b. Galwmg C. FIOHOT LY

d. @men gsIdleveney e. alenL  GaMuwailsvemev

11.  Assertion: Incident ray is directed towards the centre of curvature of spherical mirror. After
reflection it retraces its path.
Reason: Angle of incidence i=Ang]le of reflection r=0".
a. If both assertion and reason are true and reason is the correct explanation.
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b. If both assertion and reason are true and reason is not the correct explanation.
c. If assertion is true but reason is false.

d. If assertion is false but reason is true.

e. Answer not known

gl (A) UGsHT Camend Spuiat ealmena] WG UG aHOrTalhs e e (BLD
9185 uTenHUled H(HIDLSMBS

sryewid (R) : uGGsremid 1= erdOymefiiys Csrewid (1) = 0°

a. (A) wspib (R) @yewid &, Gueid (R) ereiiug) sfwrer aflendgasid

b. (A) wppid (R) Syewipw &M, suemsd (R) steiiug sflwmer alendsd Sieve0

c. (A)afl syemmed (R) seumi

d. (A) seup syemmev (R) aifl

e. alowL Gafweiledenso

12. Ceresisa .
a. Meteor b. Star c. Planet

d. Astroid e. Answer not known
Q5760 eTedTLIG
a. aflewisen b. efewrSer c. Garmeir
d. fApBsmern e. alenL  Gafweaisvensv
13.  The correct electronic configuration of potassium is
a.2,8,9 b.2,8,1 c.2,88,1
d.2,8,8,3 e. Answer not known
QuUTLLTAwISHH 60T 6160 FT6  SHIEMLOLIL |
a. 2,89 b.28,1 c. 2881
d.2,8,8,3 e. alen. OxMNuwaisiensv

14.  Match the following

A. Triads 1. Newlands
B. Alkali metal 2. Calcium
C. Law of octaves 3. Henry Moseley
D. Alkaline earth metal 4. Sodium
E. Modern Periodic Law 5. Dobereiner
QUTHSHSHIH:
A. o alg) 1. Bueomhal
B. &1y 2 Geunsid 2. HmeLdwd
C. eremnosg Gasmiump 3. Gameins Gomerd@sv
D. &1 wewr o _Geomsld 4. Ggmguib
E. molen opanssen alg) 5. Lmufefit
A B C D E
a. 5 4 3 2 1
b. 5 4 1 2 3
C. 1 2 3 4 5
d 2 3 4 1 5
e. Answer not known
15.  Covalent bond is formed by .
a. Transfer of electrons b. Sharing of electrons
c. Sharing a pair of electrons d. None of these

e. Answer not known
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16.

17.

18.

19.

FalITenemnrliL| (LPEULD 2 _(HeUTEHBSI.

a. eteuadL et Lflormmea et b. erevéLgmen LBISH
C. QUH Benewl 6l6VHL TTeiIH6MeI LIMISH d. @mear gaIdevemev
e. allewL G flwailsvenso

Plastics made of Polycarbonate (PC) and Acrylonitrile Butadiene Styrene (ABS) are made of
resin code

a.2 b.5 c.6 d.7 e. Answer not known

umed amuBer’ (PC) wBpid oibemgGeom enplenged LN LTenL el eroenLfesr (ABS) €LPGVLD
swrfssiu@h OpSPwneag abs Ordlear @Huih 2 enLuwig?

a.2 b.5 c.6 d.7 e. alewL  Ogfwalsbensv

Hermaphrodite organisms are

a. Hydra, Tape worm, Earthworm, Amphioxus
b. Hydra, Tape worm, Earthworm, Ascidian

c. Hydra, Tape worm, Earthworm, Balanoglossus
d. Hydra, Tape worm, Ascaris, Earthworm

e. Answer not known
&® ureder o _ullflser eremeu?

a. MABIQIT, BILMILLY, ewilp, SbLlwmsbgerd
b. eamigym, BILACILY, WEWILILY, DFlQuie

C. emaBIQJT, BTLALL LY, LWL, Ueo@eimdlemmaend
d. ewamigym, BILAULLY, DIEOSTRN6D, LDEWILILY

e. allewL G flweaisvenso

Match the following.

PHYLUM EXAMPLES

A. Coelenterata 1. Snail

B. Platyhelminthes 2. Starfish

C. Echinodermata 3. Tapeworm

D. Mollusca 4. Hydra

QUT(HSHHIS:

A. @uedser 1. BHMS

B. sl liyupsoser 2. BLESHHT Dest

C. ' Bxhrelser 3. BILILYY

D. Gwsbevi_edaei 4. el gm
A B C D

a. 4 3 2 1

b. 1 2 3 4

C. 4 3 1 2

d. 3 2 1 4

Which of the following is a complex tissue?

a. Parenchyma b. Collenchyma c. Xylem
d. Sclerenchyma e. Answer not known

SPHEWIL 61H @(H Sl (B SHaeun@Lb?

a. LUMyeiTen&Lom b. GasmeveitenasLom C. ang6uld
d. erv&efyesienasiom e. alenL  GaMuwealsvemev
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20.

21.

22.

23.

24.

The non-directional movement of a plant part in response to temperature is called

a. Thermotropism b. Thermonasty c. Chemotropism

d. Thigmonasty e. Answer not known

Cauing  FreibaHSG gBU  STeuy 2wy  HwgF  FIIT  SHTEIL6D  DIeHF6HN6I
2 (HeUTdhG6aSI eTeOTLILI(HLD.

a. Geulu gniTUemF6y b. Geuliupml euenengHe0 c. Gougy amiruemF6]

d. 5GEE WD QUIMETH6e0 e. allewL  Gaflwalsvenso

The structural and functional unit of the kidney is

a. villi b. liver c. nephron

d. ureter e. Answer not known

FBIBrasSSHer ULMLEF GFWed SI60E SIS LD.

a. GLWBIGHF D6l b. &606Sy60 C. Op.".Liymest

d. ApPrss@Tul e. alewL Gafuwailsdensy

Match the following.

A. Swine flu 1. Human Papilloma Virus

B. Genital warts 2. HIV

C. AIDS 3. Mycobacterium

D. Tuberculosis 4. Influeuza virus HIN1

QUT(HSHHIS:

A. uSHHBTUIFF60 1. welg uTIIGsumoT MaUFerd

B. dmtiymiiy urenestestisei 2. Gam&..a0

C. enuierd 3. awwsGsmuTsefub

D. sra@pmui 4. B)60N. .LIEHUWGTFT edauTerd 61F 1 ereir 1
A B C D

a. 4 3 2 1

b. 1 2 3 4

C. 4 1 2 3

d. 3 2 4 1

e. Answer not known

All the factors of biosphere which affect the ability of organisms to survive and reproduce
are called as

a. Biological Factors b. Abiotic Factors C. Biotic Factors

D. Physical Factors e. Answer not known

Qm o2 Wiflarhdler aumpFHBenaiu|b, S IICOUmHSSSHIHMaUD LUTHSHS gngul o ullTd Camendgled
STEILILBLD DIHTHSHIDH HTT6miBHENHLD o160 DIEMLDSH B ILIH 6T 60T.

a. o ulflwed sryewmidetT b, 2 ulgBm Sryewiser c. 2 uflited SHmyemniseln

d. Qumi asryenise e. alenL  GaMuweailsvemev

1Abacus belongs to the first generation of the computer.
2. ENIAC was used in the American military.

a. Both the statements are correct

b. Statement 1 is wrong but 2 is correct

c. Statement 1 is correct but 2 is wrong

d. Both the statements are wrong.

e. Answer not known
1. ouTHed Sewilelulle (PHed LIgHenev
2. oowiss Ayremieu’s LweuT igBatTsd ENTAC uwasu@sHsiul L g
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25.

26.

27.

28.

29.

30.

31.

a. @yewi(po &l b. spm 1 seum, 2 & c. ampm 1 gf, 2 Heum
d. 8y Heum e. alewL Gafuailsdensy

If the Earth shrinks to 50% of its real radius its mass remaining the same, the weight of a

body on the Earth will
a. Decrease by 50% b. Increase by 50% c. Decrease by 25%
d. Increase by 300% e. Answer not known

Benp WY  WIBTosd yUalwierd Heoidl opJsHdHed S0% gmpmdenmed yaluled GuTHL serfle
eTemL_WImeorgyl?

a.50% @emmpujib b. 50% eidsNsEib c. 25% @epub

d. 300% oi8sMéEn e. aleowL  Oafwalsbensv

X+2 X—3
+

Simplify:
PHY X +3x+2 x*—-2x-3

a. i b. _—1 C. i d. _—2 e. Answer not known
X+1 X+1 Xx+1 X+1

I X+2 N X—3

O e 3x+2 X —2x-3

a. 1 b. =1 C. 2 d. 2 e. alew OgMuwalsbensv
X+1 X+1 Xx+1 X+1

If the sum of two numbers is 256 and their difference is 16. Then find those two numbers?
@yewi(h eTenidefell amBHe0 256 SjeuBpllent alSHHLTFD 16 6Taled SleUaiTeni(h 6cTewIHemeNd HTewIH.
a. 156, 100 b. 110, 146 c. 120, 136

d. 118,138 e. Answer not known

Find the sum of infinite terms of the geometric series + 16 — 48 + 144 - 432 + .....

a. 4 b.-8 c.-3 d.-4 e. Answer not known
+16-48+144-432 + ..... a3 QUBEGS QOFHTLT euflengules (WPQeUBT 2 WBINILBET U] FnBHe0
BTGB,

a. 4 b.-8 c.-3 d.-4 e. alowL GaMuwealsdemev

If (x+I)(x+m)=x2+4x+2 then the value of I*+m? is

a.12 b. 4 c.48 d. 14 e. Answer not known
(x +D)(x + m) =x2+4x + 2 arefled 12+ m? er HILY
a.12 b. 4 c.48 d. 14 e. alenL  Gafuwailsvensv

Find the sum3 +1 + 1 +...0
3
3+1+ % +...0 o1B OHTLfletT FnBHEO BHT6EWIH.

a. 3 b. 4 C. 9 d. 21 e. Answer not known

2 3 2 2
Assertion: If the refractive index of the medium is high (denser medium) the velocity of the
light in that medium will be mall
Reason: Refractive index of the medium is inversely proportional to the velocity of the light
a. If both assertion and reason are true and reason is the correct explanation of assertion.
b. If both assertion and reason are true but reason is not the correct explanation of assertion.
c. Assertion is true but reason is false.
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32.

33.

34.

35.

8 | Page

d. Assertion is false but reason is true.

e. Answer not known

FBE: 26 HHH6 efaleudsd 616w DIFHHLOTH BHHHT6O (DILTe] WG 2L _HlD), DiHFH 61L& 60
efular HamaGeausd GHMBaUTs E\HBHGSLD.

SHTTeWID: 261_HHH6 @eialevsed oewl, @eflule HmFGaassHHBEG aTHTHHHAND DEHLOULD.

a. &BuID smyenor(pd Fllwms QUImHbHIFBSH. Coab STy FBenp Flwums alend@GHBal.

b. @b snyewipd g, SeImed SMIewID gaBplener FHwims alendsalsvanev.

C. By FAWMTRIH DLETT60 SHTT6RID HeUml.

d. By seupTais aalaid sryewid &l

e. allewL G flwalsvenso

The value of universal gas constant

a. 3.81 mol-1 K-1 b. 8.03] mol-1 K-1 c. 1.38 mol-1 K-1
d. 8.31] mol-1 K-1 e. Answer not known

Qurg euru] ompslellulles LI

a. 3.81 Guwmev"' K-1 b. 8.03] Guomed! K-1 c. 1.38 Gumev"' K-1
d. 8.31] Guwmev'K-1 e. alewL  OgMwalsbensv

The sound waves are reflected from an obstacle into the same medium from which they were
incident. Which of the following changes?
a. Speed b. Frequency c. Wavelength

d. None of these e. Answer not known
QH @6V SlemeowTargl 1HTTelsSIUL G WeniBd SIBFH o HHH60 LFaDCUTSHI, SLDSH6wIL eUBMI6T
618 LOTHBBLOGHL U|LD?

a. Geusld b. &18T66euemT C. SIMEVH6ITLD
d. ergleyisvenev e. alewl  Gxfueilsdensy
aprons are used to protect us from gamma radiations
a. Lead oxide b. Iron c. Lead
d. Aluminium e. Answer not known
&Mord SHMWsE5HH 60 ([HbHSH BN UTHISHTHD © MBHET  LILIGHLIHE eOTmB6nT.
a. amfu QL HmF[H b. &by C. smfuwib
d. seudlesiuid e. alenL  GaMuwealsvemen
Match the following:
A. Uncontrolled fission reaction 1. Hydrogen Bomb
B. Fertile material 2. Nuclear Reactor
C. Controlled fission reaction 3. Breeder reactor
D. Fusion reaction 4. Atom bomb

QUTHSHSHIH:

A. s GUUTLBEB OFHTLTalener MABL TN (&H6wIB

1.

B. auenemiors QuITmeiTabei 2. SIEISHSH([H 2616V
C. sl @uunLmer GamLTalene 3. 2 BUSHH 2 _emev
D. @mewia) 2 _emev 4. SIeWI&H({H

A B C D
a 4 3 2 1
b. 1 2 3 4
C. 4 2 1 3
d 3 4 2 1
e. Answer not known
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36.

37.

38.

39.

40.

9 | Page

Chemical formula of rust is )
a. FeO. x H,O b. FeO4. x HO c. FexOs. x H2O

d. FeO e. Answer not known

Slmaller euruilILT®

a. FeO. x H,O b. FeO4. x HO c. FexOs. x H.O
d. FeO e. alenL  GaMuwialsvemnev

When pressure is increased at constant temperature the solubility of gases in liquid

a. No change b. Increases c. Decreases
d. No reaction e. Answer not known
GIUILL  Geuliupleneouied, SIWRSHHHMS DHBMNEGD Burd BTLSHHL euTwelleT  HeDT M6

a. LomBMBLYeLEN60 b. o1 sfsHBa C. GBHMBSH)
d. alener Bevenev e. alenL  GaMuwialevemev

Which of the following statements are correct about a chemical equilibrium?

i It is dynamic in nature

ii. The rate of the forward and backward reactions are equal at equilibrium
iii. = Irreversible reactions do not attain chemical equilibrium

iv.  The concentration of reactants and products may be different

a. i, ii and iii b.1i,ii and iv c. ii, iii and iv

d. i, iii and iv e. Answer not known

Gougls Fopenev LBPSlul LleTeuhd swBmIseriled sleweu &iflwimereneu?

1. BUISHHSHETEND 2 DL WIH

il. gpleneoulled (LpeiiGemmeg BmI aiCamsd almaiseied allenaGousd &FLoLb.
1ii. Wenm  alleneigeiln GougsF FLOHIMEVMU! DIHL6)S606M6V.

iv. alleweuB OummeT LBHID almeaialenen GLT(HeTH6MN GaFpley GoumiL euTLD.
a. (i), (ii) mpb (iii) b. (i), (ii) w@pib (iv) c. (ii), (iii) wmpib (iv)

d. (i), (iii) oBpibd (iv) e. aflewL  Ozfwalsvensv

TFM in soaps represents content in soap

a. Mineral b. Vitamin c. Fatty acid

d. Carbohydrate e. Answer not known

TEM eaiesiug Gamiden ebd LGHU QuImenend GBS BaI?

a. g 2 1 b. eneut”_L1lesr C. Qamugliy flevid
d. srfGumrenamt” Gy e. alenL  Gxfuweailevensy

Assertion: Alkanes are saturated hydrocarbons.
Reason: Hydrocarbons consist of covalent bonds.

a. A and R are correct, R explains the A.

b. A is correct, R is wrong.

c. A is wrong, R is correct.

d. A and R are correct, R doesn’t explains A.

e. Answer not known

FBEl: DIVCHEHET HewpaBm mamL Gym HTTLIETS6I
STTewid: ewaml Crm SmTUaIH6T FaLlenenrlienUill GLmB®I6TeTeT.
a. Auppib Rafl, R, A o alenéggadmpal.

b. A s R seumi

c. A saum R gl

d. A wppid R R, A samenr gflwner aflendsd iev6v.
e. allewL G flwalsvenso
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41.

42.

43.

44.

45.

46.

Bipolar neurons are found in

a. retina of eye b. cerebral cortex c.embryo

d. respiratory epithelium e. Answer not known

BUH(PEMET HIULTTETHET STRILILIGID S LD

a. st alflSHHeny b. Qupepementl  Ljmew C. GUGNIT &(Th
d. seurg e 1gedwib e. alenL  GaMuwiaisvemnev

Assertion: Corpus callosum is present in space between the duramater and piamater.
Reason: It serves to maintain the constant intracranial pressure.

a. Assertion is correct and reason is wrong

b. Reason is correct and the assertion is wrong

c. Both assertion and reason are correct

d. Both assertion and reason are wrong

e. Answer not known

aaBmI(A) : guigr Gl LT wBBID uWT Gl L TeEpsdmLiulL L Couafuled smiued &GTgLD
SDIMLOHHIGTENG.

snyenid (R): @& cpewentl QUL LSS a6l Blewsowimen 2 6T D(LHSHMS LITONSE 2 He s Bl
a. &amm s BHBID STFewID SHeuyl

b. sryewid fl wBBID FBHBI SHeuml

C. SnBMl LOBDID STFewID EFewi(Bd &

d. sBm wBpID EMyeid BTGl SHeuml

e. allewL  Ggflwalsvenso

Gibberellins cause:

a. Shortening of genetically tall plants b. Elongation of dwarf plants
c. Promotion of rooting d. Yellowing of young leaves
e. Answer not known

AITe06V6iIB6Me0T (LSS 6llenerTey

a. wywed fHwmer GBLenL & STEUTRISMETS (&L ML WITHEGH6SI.

b. sLewL s sramismer BHLF SewLwWF CFuieug

C. Gaur 2 _(heundHemev eadH@GallILg

d. 8emb Bemevd6lT LDGhF6TaIG

e. allewL  Gafwalsvenso

Syngamy results in the formation of

a. Zoospores b. Conidia c. Zygote

d. Chlamydospores e. Answer not known

Fa1@a10ullesr alenemalTed 2 (HeuTald

a. GeroBumiTael b. Gamefiguir C. wFCam’ (HHUPL 6L )
d. SemmAGLmerv@uimiapelt e. alenL  Gafuwailsvensy

9:3:3:1ratio is due to

a. Segregation b. Crossing over c. Independent assortment
d. Recessiveness e. Answer not known

abBEpFFuler sTyeoions 9:3:3:1 o (Heurdma?

a. 60 b. 301585 BH605HH60 C. TSN PHIBIGH60

d. 9bmIE Heeno e. alenL  GaMuweaisvemev

Assertion: rDNA technology is superior over hybridisation techniques.
Reason: Desired genes are inserted without introducing the undesriable genes in target
organisms.
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a. Assertion is correct and reason is wrong

b. Reason is correct and the assertion is wrong

c. Both assertion and reason is correct

d. Both assertion and reason is wrong.

e. Answer not known

agmpl: TDNA Gsmfled mIlub seolifenorssamneo il GeuTeg).
asryewid: TDNA Qevé@ 2 ulflaiddled alpbudh HBTH 236THM6T  [HINPSHSTIDE al(HDLS HdHd
SeiH6i DL (BLD HIHLSSLILBE6ITB60T.

a. &mu gfl EITe0 SHTFewID Houml

b. mBE Ham QeITed EIyeRID &l

C. BB WLBHID STIewid @FewiBh &ifl

d. &@Bm wBEID STrewId SraviBb SHeuyl

e. allewL G flwalsvenso

47.  Excessive consumption of alcohol leads to
a. Loss of memory b. Cirrhosis of liver c. State of hallucination
d. Supression of brain function e. Answer not known
SleTeYH@ Wlehdw DHINPSESSHH 60 2 (HeUTeUS)
a. @MUs LB b. s6065760 Hensay C. wrwg Capmmmid
d. epemend QFWIGOLITH GHeMBH60 e. alenL  Ogflwalsvenev

48.  Match the following;:

A. First generation Computer 1. Artificial Intelligence
B. Second generation Computer 2. Integrated Circuit

C. Third generation Computer 3. Vacuum tubes

D. Fourth generation Computer 4. Transistor

E. Fifth generation computer 5. Micro processor
CUMThSSIH:

A. a0 HMEV(IPDB 6wl el Cgulens HiewTewI6ey

1.

B. @yewiLmb gemev(penys  Seufle 2. QHRIFDWHHF GBI
C. apaimmd Heneo(pens  Sevfleol 3. QeuBpiLsd GLTUIHel
D. ®Braismb Heneo(penn  Hemleoll 4. emowil QuU(HSHS)
E. ;bamb seameopens sewilen 5. BIWIOFWeI

A B C D E
a. 3 4 2 5 1
b. 3 5 2 1 4
C. 1 2 3 4 5
d. 5 4 3 2 1

e. Answer not known

49.  Which one of the following is not an unicellular organism?

a. Yeast b. Amoeba c. Spirogyra

d. Bacteria e. Answer not known

&8 2 eeneuBmled o1& @ GFed o ulflend Sle0e0?

a. FeroL b. eusur C. eroemLIGyT emasyT
d. urdefum e. alewL Gapfualsdensy

50.  Which of the following processes add water vapour to the atmosphere?

I. Transpiration II. Precipitation III. Condensation  IV. Evaporation
a. Il and III b. Il and IV c.lTand IV
d.Tand II e. Answer not known
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51.

52.

53.

54.

55.

Ledteu(BLD (LpemaEheT HImaluleneat eleroemL 60 Hanlen CaTliLg 61g?

[. pyreliGurds@ II. wenEUTH&H6D III. o6l asmhIgSH6e0 IV. speluimged
a. Il wmpo T b. Il wppd IV c. ] wmp IV

d. T wppo 1T e. alenL  Gafweaisvensv

Gypsum is added to the cement for .

a. Fast setting b. Delayed setting c. Hardening

d. Making paste e. Answer not known

FOIwemnged IFD CFTHSUILBEUSHBHTET SHTJT6UTLD LS LD.

a. alengaund OBL 195 HeTenLOULINL LI b. Qalliu@ld S HTOHILBGHD

C. BIQEILOTHS d. sevemeaiemul o (Heurds

e. alenL G fweailsdenso

Assertion:  Volume of a stone is found using a measuring cylinder.

Reason: Stone is an irregularly shaped object.

a. If both assertion and reason are true and reason is the correct explanation of assertion.
b. If both assertion and reason are true, but reason is not the correct explanation of assertion.
c. Assertion is true but reason is false.

d. Assertion is false but reason is true.

e. Answer not known

BB : SV HT SieTene! SeNMAIBLD (LHBHMEU CLPEVLD  HIETTESHE0MLD.

STTEWID: H60 @(hH QPOBISHBB  GUIQEU(LPEL W GILIM(HEIT

a. SBEID STFeI(pd &M BEID STJed sBBiBarer Flwmer alendsbd

b. &Bupbd &ryeRipd FN LEITE0 HMFeNID FmBiBeTer Fiwimer alerndane060

C. &pp g SLeIMmed STFeNID Heusl

d. sBp Heoum oueITed &ryewid &

e. allewL G flwealsenso

Oxygen, hydrogen, and sulphur are examples of which of the following?

a. Metals b. Non-metals c. Metalloids

d. Inert gases e. Answer not known

SGHFMeT, mABL Jeel LOBEID FeOUT S&lWenel SHpsHHMILeuBnBled 6IHBE 2 SHTJewnid?
a. o Geursd b. &Bsurasid c. 2 Beumall Gumelaeit

d. wbs eumudbsel e. alenL  Gafuweaievensy

Vegetative propagation by leaves takes place in

a. Bryophyllum b. Fungi c. Virus
d. Bacteria e. Answer not known

Bemeuderilall cpeuld @ L evaulfl BeMICLIHESLD HL SHAHIeISH

a. UenyGuimievevid b. yehens C. GMAUJ6ID
d. urdefluwm e. alewL  Gapfualsdensy

Mercury is often used in laboratory thermometers because it

a. Is a harmless liquid

b. Is silvery in colour and is attractive in appearance

c. Expands uniformly

d. is a low cost liquid

e. Answer not known

SUIeus GeuliLplensoomeiulled LTHTFID CUTHIUTS LWSTLGSSLILL S STTE0ID DI
a. UMGHISTILTET Slyeud

b. CxmBmeHHev Geauaial GUTEIDI LITLGTIILITE 2 _6lT6Ng.
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56.

57.

58.

59.

60.

61.

c. By Fgme alfleuemL WHaniQuigl
d. alemev eJeuTeg
e. alenL Gafweailedenso

(-16) - 4 is the same as
a.-(-16) -4 b. (-16) -(-4) c.16 -(-4)
d. (-4) -(-16) e. Answer not known
(-16) -4&@ swwreis 6%i?
a. -(-16) -4 b. (-16) -(-4) c.16 -(-4)
d. (-4) -(-16) e. alewL  QFfwealsvensv
The next number in the series is — § i S ,?
J5'5'55" 25
6 6 7
— b. —= c. — d. — e. Answer not known
J’ 255 125 25
— E 43 ,? et OFHTLM60 DIBHSH 616w
J5'5'5(5 25’
a. 6 b. 5 C. S d. ’ e. el GaMwalevenso
55 255 125 25
Simplify : 100+ 8 + 2+ {(3x2) -6 + 2}
a. 123 b. 107 c. 113 d. 103 e. answer not known
amhéGd: 100+8 + 2+ {3%2)-6 + 2}
a. 123 b. 107 c. 113 d. 103 e. alewL Oafwaleenso
Complete the series :
1,1,1.5,3,7.5,
a. 11 b. 255 c.225 d.10.5 e. Answer not known
CaTLmy Hemmey GFuis.
a. 11 b.25.5 c.225 d.10.5 e. alew OgMuwalsbensv
1-3x
If (gj = (%j then find the value of x.
a. 41 b. 31 c. 21 d. 11 e. Answer not known
1-3x %
(g] =£%j GI&d60 X -60T LDGIIL| SHT6wIsh
a. 41 b. 31 c. 21 d. 11 e. alenL  Gafuwailsvensv

Assertion (A): Copper is used to make electric wires.

Reason (R): Copper has very low electrical resistance.

Both A and R are true and R is the correct explanation of A.

Both A and R are true but R is NOT the correct explanation of A.
A is true but R is false.

A is false but R is true.

Answer not known

amBml (A) : SMOTD, WVSISLSHHGHBIOLNH6T 2 (HeuTdhsll LweTBSBSI.
smyenid (R): smoyd Gempbhs Wl HeLenuid GCBTemBeTengi.

Pan oe
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a. Auwppd R @yempd Ff, Goab R eaeg A sarer gilwner alendsd o@D
b. A wspid R SrewiGn afl, eyemed R epeng A ssmer gflwmer alendsid Ee0mev
c. Aeaeiug gf, spemed R eradiug seoum
d. Aeeug seum, spemed R ereiig &M
e. almL G flwailsenso

62.  The binomial name of pigeon is
a. Homo sapiens b. Rattus rattus c. Mangifera indica
d. Columbo livia e. Answer not known
ypreier QmOaFTm GuuwiT
a. GammGom  GaiNulest b. gmLed gmLer C. TEhFOUIT B6ewTigHT
d. Qameobum eSeflwim e. alenL  Gzfweaisvensv

63. The image formed by a pinhole camera is inverted because,
a. Light travels in straight lines
b. Light rays become laterally inverted as they pass through a pinhole camera
c. Light rays pass through the pinhole
d. Light rays get reflected
e. Answer not known
oa G gHImenseTITaled CaHremd LIbUD HemeudboTendl, 66lareled
a. @eflwrengd GCphTHECHTL 1960 OFOILD.
b. gefldadisen siemeanuilar anfBuF GFIDBUTHI, HMeLBIPTSS OCFOHBSHI.
C. pefldadliser semenuier aufCus GFe0aBF.
d. gefdasdlitsen 618 6yTaNaas LB 36
e. allewL G flweaisbenso

64. Telescope was invented by

a. Han Lippershey b. Galilio c. Nicolus Coppernicus
d. Ptolomy e. Answer not known
Carener GCpTddlenwid SHemrpslhHeuiT
a. amre IIOUTGag b. &6069@wiT C. FH0BTe6e0 HTUILIMHSHE
d. smeuid) e. alenL  Gafuweailsvensy
65.  The first man-made fiber is
a. Nylon b. Polyester c. Rayon
d. Cotton e. Answer not known
LOGTIZHEONTED © (HEUTSBLILILL (IPSHeD EenLp G LD.
a. MHEVITET b. ureSuieroL i c. Gyuurmest
d. uehs e. alewL O fuwelsvensv

66. Sl unit stands for
a. International system of units b. Integrated System of units
c. International symbol of units d. Integrated symbol of units
e. Answer not known
SI oG aaiLg
a. UMl (B SIVE (LPenm b. @pEHmanihs DIVG (LPMB
C. uaemm(® GBUILG (e d. @eprdmanhs GUUILG (s
e. alenL Gaflwaledenso
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67.

68.

69.

70.

71.

72.

Focal length is equal to half of the

a. Centre Of Curvature b. Axis c. Radius Of Curvature
d. None of the above e. Answer not known

GaIWOHTEM6LTEISH] 60 UTHWena| BmHB@SLD.

a. GUMGIEY GMLOWILD b. oi5as GCarp C. 6UED6NTEY| SLJLD
d. @aumnied ergieevenev e. alenL  GaMuwialevemnev

The property which allows metals to be hammered into their sheets is

a. ductility b. malleability c. conductivity
d. tensile strength e. Answer not known

2 Geuramisamen SuBBlel SHBBHHENTH WIHBB 2 SHayb LewiL| 6157

a. siwne BeEm Lieo b. saL1E alfluyb L C. BLSHIHISHHmett
d. sLsa5IHBmeb e. alenL  Gafweaisvensv

The pigment responsible for browning of apples is

a. Hydrated iron (II) oxide b. melanin c. starch

d. ozone e. Answer not known

Ceul Lt L sunflelr LpUUTS LOTBIUSBEG STTERIOT6T HiBL

a. p8yw @by I eudbma® b. Guosvesi et C. eOLTTE

d. @Ggmer e. alenL  Gafweaisvensv

Assertion: Algae are heterotrophic.

Reason: They don’t have chlorophyll.

a. If both Assertion and Reason are true and Reason is the correct explanation of Assertion.

b. If both Assertion and Reason are true and Reason is not the correct explanation of
Assertion.

c. If Assertion is true but Reason is false.

d. If both Assertion and Reason are false.

e. Answer not known

&HBB : YeodTHHeT Lipaniy o ulflsenm@Lb.

SMJEID : Slwel LFmHFULIGHMSH CUBBIHLILIS M6V

&MU LBBILD &Myenid @JewiGL &M, Gend &STyewld FnBmibaTer FHWTeT allenddLom@LD.

FBE LOBBID STewID @FewiB &if, SHEIT60 HTJewD FmBmibaTer Flwmer alendsld Slvev

gpp i, smyewid SHeuml

BBl WBBID STTewD STeRiBL HeuBl

allewL  OFflwealedensv

ocanoe

The first vascular cryptogams in land plants are
a. Bryophytes b. Pteridophytes c. Gymnosperm

d. Angiosperm e. Answer not known

Blovd HTOUTHISET60 (LPHL UTEVGEVTT LTS SHTeUTHIS6N

a. WengGuim. .enul_(Hobeit b. QLAGL. .enu_BabeiT c. BbGarmerdELITLDH6IT
d. ouehfBumeduTbassT . alewL Ggflwalsdensv

In the absence of oxygen, glucose is broken down in to

a. Lactic acid b. Citric acid d. Acetic acid

d. Nitric acid e. Answer not known

STBBI60EVT DIGLEVSHI DLHMIMBB  GHL6VIeD &HEHEHBHTerD FlendHeuenL HSl mdb CBTHHGSLD.
a. 6UTHIQH SHILOGVID b. ' MNé sevd C. ofllnd Hflevid

d. enplflé ouflevd e. allenL  Gafweaisvenso
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73.

74.

75.

76.

77.

78.

Mach the following.

A. Gir National Park 1. Madhya Pradesh
B. Sundarabans National Park 2. Uttarangal
C. Indira Gandhi National Park 3. West Bengal
D. Corbett National Park 4. Gujarat
E. Kanha National Park 5. Tamil Nadu
QUTHHSHIH:
A. A Cxdw ymisT 1. wsHw LFGsHaid
B. apaiusieod Cahdlwl misT 2. 2 SHHIMHIGB6D
C. @pdlr smpg Casdlw ymsr 3. GuBE eumIsD
D. smjou’ Gapdluw ymisT 4. GH|UTH
E. satant Gl ymist 5. SLODHTG
A B C D E
a. 4 3 2 5 1
b. 1 2 3 4 5
C. 5 4 3 2 1
d 4 3 5 2 1
e. Answer not known
“Mevey + etalipl” eIILGHMeNF CFTHEHI 61(1pSHD HMLEGWD OFT6e0
a. HevOuwies b. BlevGeuem C. Bleveuasiy
d. Beveerenm e. alewL OaMuwaledensv

‘DIpozpeap” o OFTevemevll LfleHH 61(WpHsh SlenLLILIg
a. 9zl + 05 b. &g + eem

C. oiwal + gas d. e + Czem

e. alowL  GgMwalis0ensv

“‘BuSHFHOD . UTLedleT SHHHISG gBmLY CLIMTHEHHIH:

A. aleweneysa 1. umeL

B. anfleyss 2. Geued

C. Qenenioé& 3. B

D. yevauits@, 4. Gamert
A B C D

a. 1 2 3 4

b. 3 4 1 2

C. 4 3 2 1

d 2 4 1 3

e. allewL  Ggfwaisvenso

“‘ghenewd” 1B GFTevemevll LNMEss HewL d@Hb OFTed
a. & + Senenio b. Firewo + Benenio
c. &M + Qenewio d. £5 + Senewio
e. alenL. Gaflwealedenso

“a0pEImYH Gumesd @efidTougdl eThGLD STGEITD” 6165w LITIQUIGUT
a. HEWICWIBTF 60T b. umgguwimi

C. UMy&HHTEFe d. eurenigmaes

e. allewL G flwalsvenso
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79.

80.

81.

82.

83.

84.

85.

86.

87.

“oT* eTeltamIld GFTeLENGT OILIT(H6IT

a. IomLLb b. euresd C. ailevmid
d. subor e. alenL  OxfNwealsbensv
QUTHHSHIH:
A. wHxIFsLT Bumen 1. OTLMRIG6IT
B. smru pissHae0 2. QmemeL
C. s wAPHIHL 3. Beoree
A B C
a. 3 1 2
b. 2 1 3
C. 3 2 1
d. 1 2 3

e. allewL G flwalsvenso

bHGHHL 6TFIMID OFTe0I6H 6TAHTFOFT6V

a. CuTE&HH6e0 b. seiensed C. SIPHH6e0

d. GsrHzmMm e. alewL O MNuwalsvemen

UBT BHEGF e Humsll CUTBISHBHISOSTeTIS DS LD.
a. euibL b. gmwd C. OIL&&HID

d. Qurenp e. allewL Oz Muwelsdensv

o FHs eeim CFTeLeIBG W 6IHiTEFGFT60 .

a. OBHD b. feophs C. @OBhD
d. Gsmemsuw e. alowL  Gafwalsdensv

alpbdlenien (e 6IGUTH euTHLD?

a. Blb (P LOTSleuTed b. pb &iB wTSerTed

C. BTD BTG uFGaummmed d. pb pseufl TRSlesTTEL

e. allemL G fluialsvenso

sreligrgalar Cohalengll LML 60&H6T 61SH0ITelldGWw @)L 1D

a. analfdbaemy b. eneuenmbHamy

C. BHIMDHDEM] d. wopenestdbaseny

e. allewL G flwaisvenso

Sixty-Five percent of a number is 21 less than four fifths of that number. What is the number?
4

QT 6leuTemN 6ot = a1 uRABGL DCH eeieniet 65%-B@&ID o 6en alHHwTFd 21 eafled DiHSH

6TGUGT  6T60T6uT?

a. 140 b. 150 c. 135 d. 120 e. Answer not known

The value of "3\/ 3v3...1s

a. V3 b.3 c.\V3V3 d.27 e. Answer not known
3V3V3... -a1 wHly

a. V3 b.3 c.v/3V3 d. 27 e. alewL Oz fwalsbensv
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88.

89.

90.

91.

92.

93.

A person saved money every year, half as much as he could in the previous year. If he had
totally saved Rs. 7,875 in 6 years then how much did he save in the first year?

a. Rs. 3,800 b. Rs. 3,725 c. Rs. 4,000

d. Rs. 4,200 e. Answer not known

QH BUT @aIGeautT eiBlD DSBS (WHSW ewiB CFshHs FHTamauled utTHeomwdF CFOebamTiT.
6 SemihHerlled SlauT eh. 7875 &g CHFOSHMIT elafled, (PHeL ewiged SeuT CFOHH CFHTemas
616116161T6Y 7

a. Rs. 3,800 b. Rs. 3,725 c. Rs. 4,000

d. Rs. 4,200 e. alenL  GaMuwalsvemnev

2 _ _ 2
Simplify : (679 +458)2 — (679 — 458)

679x 458
a. 1 b.2 c.3 d. 4 d. Answer not known
) (679 + 458)% — (679 — 458)*
Si(TH5Gb:
679x 458
a. 1 b.2 c.3 d. 4 e. alewL Gxfwaledenso

1.6 expressed as fraction is
a. 16 b. 16 d. m e. Answer not known
10 9 8
1.6 eisliugl LemeumLeuateuBmIeT 6lhd LleTenndidh@®Hd FLob?
16 16
a. — b. —
10 9

C.

w| o

C. d. u e. alewL Oz fwealsbensv

8

w| o

QUT(HSHHIS:

A. @evsdw rpThH

B. sib mpriBs salebT

C. @mmreud

D. sfips emaCuip

A B C

1 2 3

2 1 4
2
3

LIy glumit
Oz eTem et

oglu). Gumr
Sihe

4 3

N =Wl gD

an o

. 4 1
e. allewL  Ggflwaisvenso

QUT(HSHHIS:

A. @evsdw rmTlH

B. s01p mBr (e salehT
C. @mmreuld

D. s waBuih

LIy glwimi
O cttement
aglu]. Gum
LI

A B C
a. 1 2 3
b. 2 1 4
C. 4 3 2
d 3
e.

N W g R w D

4 1

usalemy GeuBpl GememiLeauenyll LTGL Bevdbdluid .
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9.

95.

96.

97.

98.

99.

100.

101.

102.

103.

a. HELIDLIGBID b. ufum_ed C. uyeuf

d. 9psTd e. el O fNuwelsvensv
BHOPBHHH60 LeUH6T STULSLD DIHLOHSIEN6T L 1D
a. GalL[bHTmhIsH60 b. Gamguibseny
C. (LPGWIL [HSHIN] d. ambseiEenid
e. allewL G flwalsvenso
QUTHHSHIH:
A. :M&My6HEGBIHHID 1. (. le&l
B. @ensmya@mnissld 2. HEWELEUGT
C. 9155&HMBIdHD 3. Gumedtd
D. wars@misbad 4. Oeue6ITeUTEL
A B C D
a. 1 4 2 3
b. 4 1 3 2
C. 2 3 1 4
d. 2 4 1 3
e. alowL  GgMwalsvenso
Ggmevedlent (Pp&Hedled WL B BLIb GBS .
a. WHMSH HBISHBHLD b. @enamys GBIGBED
C. DBJ&HEGHMISHHLD d. eissEBIGHI0D e. alewl OgMuwalsbensv

GeuwmomLLb  eTeTlILIBeIS] !

a. mausGasimeured GauwlLGaIG b. FmhHenmed LFLGeS
C. @ameuimed GeuwiliBeaIg) d. siewlwmed el LGeug)
e. alowL  GgMwals0enso

2 JobT Spad - BH0FHTLMed DIgsBsmgl L OQFTevaler GUT(HET
a. SIHBHI b. eumeoid C. HL6

d. wemev e. alenL  GaMuweailsvemev

BUBMS BT L - BHOHTLIL DigdbGsmgl L GFmevedler GLIM(H6IT

a. Meuld b. Bt C. BB
d. Gy e. alenL  Gafuwailsvensy

agInsd @b CuBTEH Senewt

a. &Je| - BuUBMB b. aumsl - FmsLD

C. 200G — 66 d. smge - Bmgey

e. allemL G fluwalsvenso

paitemelarLly HolsvieTen @OTLRHH @(HOLOTSE6 M6  616u0T6mT HmB

a. 40 b. 42 c.44 d. 46 e. alewL Oz fwalsbensv
BTVHMBH ST LGUS 2 ML .

a. UG b. algd) C. BemLBlenev

d. gpd e. alewL  OsMuwialsvemen

QuUTHSHSHIH:
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104.

105.

106.

107.

108.

109.

110.

111.

112.

A. Quuimiugugsib 1. eumpb&Test

B. elewemiugusid 2. LD6ST

C. @oLlusmiugb 3. mell

D. o fiusmiugio 4. Quiwmi
A B C D

a. 2 3 4 1

b. 4 1 2 3

C. 1 4 3 2

d. 4 3 1 2

e. alenL G fweailsdenso

“euamigen]” eIeIeID OFTeLemeVLl LM 61(pSHs HlenL LiLieon .
a. euewr + &y b. cuetewid + &eniy C. QueniD + &Semiy

d. euewienip + ey e. alenL  GaMuwalevemnev

“‘emuiBs WeLevd* aTHIID DITLFOFTE0ISEGHF TG QUIM(h6IT.

a. &BmIevT euPIBTL I b. swaTw auPfsT iy C. dbgHemenuimenT
d. FLeusbeupT e. alenL  Gafweaisvensv

Obs GCoumevedw! (P&5d RH ME GHMBIHBSI 6ITLISHI

a. (PHeUTG OwiT b. denerwim@oLwiT c. Gampeong GuwiT

d. uewurEGUWIT e. alewL  OgMuwalsdensv

SO 611pSHHIH6T BUICLITHIGTET BlensowITer augauSHmSHL GILs STTERILOTUI  DIDLOHHS.
a. @alubsmen b. @mgssamev C. DFHSHMEV

d. miewiEmeD e. allenL O fwaisdensv

SO aBHHEF FTHHSSLILewIUled FHULL 6uT

a. UMy & ama et b. shws Guilwim C. aue_.dglbuyeT
d. Gumehd sdyeomit e. alew Gafualsdensy

QUTHSHSHIH:

A. &, m 1. Braler GenL, SiewenisHHer Senl

B. &, @b 2. mraler miel, GeveuruiliLedelsr Silg

C. L, ow 3. BTalen (LPHeL, SiRIWISHHE Silg

D. &, 4. mreler Hiel. Siewienidlen Hieol

UJNHkN}'E-g

0N o
(e S TN |

C
1
2
3
4

N B — W

e. alenL. Gaflweailedenso

“BememipliL]” el Ggmeveneoll Lifldal 61(pHd SHewLLiLig)

a. bep + o el b. pewt + 2 ewipliy C. o1 + SleMILIL
d. et + 2 _emipri e. alenL  GaMuweaisvemev

(PBOBILICLBTLE 6Ehd BHBGWL ClFTed eTeILILIBLD.

a. (pBml b. e&gd C. (WPBOB&FSFID

d. elenerGuwiFsid e. alenL  GaMuwalsvemev

QUTHSHHIS:
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A. QuBms g@aluibd 1. Fous Sbapminemnt
B. Qupewas sHeubd 2. Quilwyymemrid
C. QupenaLs ufewrmion 3. uSGHIILT (H
D. gumpemas o6 4. SLDUTTLOTUIGHTLD
A B C D
a 1 4 2 3
b. 2 1 4 3
C. 4 3 1 2
d 3 1 4 2
e. alenL G fweailsdenso
113.  “lo6ol, LTEN&TeNW QUMEIHSHTONT - EGHOSHTLT QuTHemeNs  GHMISHSBSI.
a. OHH6L b. aufshme0 C. Qa&menL
d. gemLme0 e. alenL  GaMuwialevemev

114. OQosmBaEprsd DoLCw GauBmieno 2 (B WeBhHSH aI(HeIS

2_1bemLSH0HTmSH C. 2 _aumS0HTeNS

a. CauBmImSHeHTMS b.
d. 9EewmnhsHesTmes e. alewL Gafwailsdensy
115. QuThSHHS:

A. QUWOTFFHOSHTLT 1. &niE&wed LIQSHSHT6i

B. alewenGuwgasssHmLit 2. YevauBy eu(ms

C. alenaanpBmIhoHTLiT 3. UmMg (P19 &SHTent

D. epeumuig QgL 4, er1p&Hw LITL 6D

E. alefg0mmi 5. Qeuesipmesr Gamipest
A B C D E

a. 4 2 1 5 3

b. 1 5 4 2 3

C. 2 4 3 1 5

d. 4 3 5 1 2

e. allewL  Ggflwaisvenso

x+% = 7 aTalevd X3+%(360'T DTN
a.8 b.2 c.6

d. 4 e. Answer not known

117.  Find the 8 term of Geometric Progression (G.P) 9, 3, 1,....

a. £ b. L C. L . L e. Answer not known
27 81 243 729
9, 3, 1,.... @B OQUBHBSGHFH CHTLT euflewguienr 8 eugh o ML HTEMIH.
a. £l b. 1 C. L d. L e. alewL Oz fwalsbensv
27 81 243 729
7-2
118.  find the value of a, b if \/_ =aﬁ+ b
J7+2

a, b uler wHienL e i =a\/7+b
J7+2
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119.

120.

121.

122.

123.

124.

125.

a.a=4 b=114 b.a="114;b= 44

d. az—% b= 1% e. Answer not known

. a:—% b:—l%

@)

The value of 152 + 162+ 172 +....282 is

a. 6600 b. 6699 c. 77000 d. 77114 e. Answer not known
152+ 162 + 172 +....282 -ai1 &1
a. 6600 b. 6699 c. 77000 d. 77114 e. alewL OHfNwaleenew

The next term of the sequence

4,6,12,14, 28, 30, is

a. 32 b. 60 c. 62 d. 64 e. Answer not known
Weteupld OHTLT euflenguiet B 6Temt

4,6,12,14, 28, 30,

a. 32 b. 60 c. 62 d. 64 e. alewL Oxflueaisoenen
syl YewrTdFdl QUEMSBLILI(BLD.
a. mbhal b. G C. eI
d. @yewi® e. alewL Gafwailsdensy
SIBWTSHHSHTFT FpsF FFHHSHHHH6 HHend 616em CuTBBLLGSHBTT.
a. sws b. &pbaw c. Gpeaafbaiw
d. e e. allewL Oz fuwelsvensv
W0 61105 Pemileuyd OFmbLLL .
a. eIHImD b. Seuiy C. OIhHTH
d. Gurewer e. alenL Gz fweaisvensv
QUTHSHSHIH:
A. Qeuexium 1. gl6ieed @PenTF
B. eydflwiur 2. QaliuGeorens
C. sellum 3. gmisGeoTeng
D. sughdium 4. o®6uGeoreng
A B C D
a. 4 1 2 3
b. 2 4 1 3
C. 3 4 1 2
d. 3 1 4 2
e. allemL G flwalsvenso
QUTHHHIH:
A. @D FHHeusl 1. pBueLisveuTHeu6ET QBB CL(HEhOFeLMID
B. mlL ereg) 2. @eieniwlene] SHeumbl
C. Qumenibenuws OIS 3. Qgevauld WGHSH SHTevld
D. uewfley Gasmeitend &mevld 4. gz AW 1 HLoeTs
E. vweiam oudeus 5. LIGWTL|6mLWIGUT [BL L]
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126.

127.

128.

129.

130.

131.

132.

133.

134.

A B C D E
a 4 2 1 5 3
b. 1 5 4 2 3
C. 2 4 3 1 5
d. 5 4 2 3 1
e. allewL G flwalsvenso
6T @UIUbBSHSHSHIe0T eLp60LD rBS SIMOSSLILIL L ).
a. Garsgiflenio b. Gu&aiflenwo C. 61(SHSITemLD
d. @riewr eund@hento e. allewL.  Gzfluialsdenso
A7 BB wmhged Semiuller Geuml GLWIT S|ewfl.
a. 1flg GomPsen b. Gaummientp C. 2_aIenID
d. FBsvenL e. alenL  GaMuwalevemnev
BT BHemevsCatth OCHTLTLIe0THS 61517
a. om0 b. symi C. ®evehd
d. yeorfl e. allewL O Muwalsvensv

CurpsHaoner almLamwd CHiTs.

1. Bl SIEDWLWTSH 2 60F — H(HeU6TEHEUT

2. pieIm SIMOWITSH WTHMB — GETEmEUUITT

3. wiwe CumBBIFHID - BemiIGaHTeugsSe6i

a.1,3 b.2,3 c.1,2 d1,23 e. alenL  Gafweaisvensv

SLpSHSTERILIUBBIGT 2 _euliTFFld OHTLT 61817

a. FpILEhapeusHHed o 66l LML 60H6T GILIBHLOLITEILD EHBE2_  (LpaiTeleneouled SIenLOHSHIGTETE.
b. @b mIevEaIWelsT HHamGH6wer SfwiiGLUeT wimr?

C. erevtenreniGemr! BHmiBe Gamedeuend BHOLGH (Lpipulailedensv

d. aumpsmauied ol s CHmaisendd DBHD B SMBHL USHBFTMNSGHDH H(Hb.
e. allewL  Gaflwaisvenso

gilwmen snBrilenars OFfley OFuis.

a. ‘gL ee@iugl IHTomB DemL Hlenev

b. & 9BBETT UHHHFTM 6ISLLH SiewTenimalen GoenL [IGLIF S

C. afledium (b @T EevsESW augeILd

a.2,3,af 1 syl b.1, 3, 5l 2 meum C. epasipd &
d. wemid seum e. alenL  Gxfuweailevensy

LauTsl STUISGWD, WeTHmd — DsEbsmygl L CFTBaEnHE BevdHsenid WTgH?
a. QuwOr&sd, 2 aImS0HTmS

b. erdmoenmli QUUIOTFFID, 2 (Hausd

C. AmATOWEFFID, 2 _aI6wHLD

d. edmoems almarOWFFID, 2 amSHeHTmSD

e. allewL G flwalsvenso

“‘wr oglb eTeTUGl 61hdH HleVSHSHI0 eUeT(THLD?
a. G&ehd b. wmsbd C. LITen6V
d. OpuIsM e. alenL  GaMuwalsvemev

“‘Od s euemideve eleiemID OHTLIled SIS EITT GBI Boug
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135.

136.

137.

138.

139.

140.

141.

142.

143.

a. auwiled HLILEOHEHID MDOLIHID STILTUWIRISEHLD
b. Qugpd euewila(pd OUIHLD HEVGTEHEHLD

C. OB STUNLIBISEHLD  &I607lEH 60631 ETHLD

d. auenlss HLILEOBEHID £I6w0TEH606ISBEIHLD

e. allewL G flwalsvenso

b HLODHT elaUenSLl LTMSHHTe0 Belioumml auHLD
a. e + WD + BT b. ebs + WO + BT C. 6D + OD + BT
d. epsd + SO + BT e. alewL Gxfwailsdensy

‘LTSI UelSBHL6L LIHE“ 61aTaild (PeLeELILITL (B Sl 2 aiTHSHID Spialwed Gauig wmg?
a. sL60 BT opallwms GsLomged b. L6 BT @elTFd oL He0

C. BLY BT @60HH60 d. sLed BT QEMHDHeldhaH6e0

e. allewL G flwalsvenso

“‘Qufiw eng” FMNSHSMT - euewicnF OFTELONIGDTE OHTMHUIE 6UND 61517
a. URTLSHOSTmS b. 2 aumind0sTens C. OIFETHSHOHTNS
d. o 1bemndHeHTems e. alewL OgMwalsdensv

CuTEHBSID almLsuflmgmusd CHTHOHBHS.

A. Gsmemied 1. Gumes

B. GamenL 2. Q3BE

C. aumemL 3. FwEs

D. Ossimed 4. QUL 5@
A B C D

a. 1 2 3 4

b. 3 1 4 2

C. 4 3 2 1

d. 3 4 1 2

e. allemL G flwalsdenso

“dlevlbl] SIMLHS(HHS LTSS 61U1H" 6leTemild Diiguiled LT&SLD 6T6iILIGI

a. Usbamm b. cpgmit c. Guemi

d. by e. alewL O fuwelsvensv

uflumied Siguiled “@llFHibUD Qe b eI QHTLT sHmend GHnbama?

a. UTAISHMSUID LT DL U|LD b. aumeIGemaud LiSHempu D

C. UTRIHMSHUD LLOlenuiujd d. aumensemsud GuOrTeSenuIuD

e. allewL G flwalsvenso

"Bmig BaIU Cumbasl BBGLT? aaim euPliCurdssT CsliLg el
‘98z, 9mBs PHBGL”. eyl BOBTHT Fnmsluig allemL .

a. gwalenm, allenm aFT alenmsed b. opelerm, wmp el

c. opfwr alerm, &G allenl d. G&mened alenm, SeOWwTY alenL

e. alenL Gaflwealedenso

&6l BTeVHMBL CUTIRFHTHS GlBTEwIL  [BleVmISH6IT .

a. (Pevemev, GMlEhd], LD[HSH HeLMmIBEIT b. @Pehd), uTemev, GHUIHED BlevBIB6IT

C. @Mehd, WS, OBHUIHED [HlEVRIH6N d. WwmSD, OBUIHED, LITEN6D [BlevmIG6IT

e. allewL G flwalsvenso

QUieTL L GFlev B meuflengulsd Beaim GSmearT. Q&H6HTLfer QFwiuT’ (B aflenerd CHTLT 61g?
a. @uieom’ L gge0 @ meuflengulsd MBI oibHeul
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144.

145.

146.

147.

148.

149.

150.

b. guieom L0 Bmeuflensuled Blesim S LLBGSBS!
c. guieom b @meuflenguied Mem ou LLBGSBSHI.

d. guieom’ L meuflensuled Beiim @il (LG eT36IT
e. allewL G flwailsvenso

gflwrer oisrafleangemwds CaHiTbho%HHHS.

a. 2108, LDewI, &JiT, Lom(H b. wewr, wr®, ¢, 2_1p6)
C. 2 1pa)], 6JiT, LDewl, LDOM(hH d. g, 2_1pay, wIH, L6
e. alenL G fweailedenso

SOPNHNSH QBBUBHSHID BeosbHWoTs 10.0ur.d. SHHwg
a. FHmeE@mel b. usBTETHI C. &SLDUJTLOMUIENILD
d. feoriugdemyib e. alenL  GaMuwialsvemnev

Find the number of terms in the A.P 3,6,9,12, .... 111 ?
3,6,9,12, ... 111 eretip Sl BOSTLT cuilenauled e1HHemen o MILILSH6T HIEDLOHSHI6NT6T6?
a. 36 b. 37 c.41 d. 39 e. Answer not known

Find the wrong number in the series :

1, 3,10, 21, 64, 129, 356, 777

a. 10 b. 21 c. 64 d. 356 e. Answer not known
oTew1 OFHTLM60 HeuBTerr 6cTenmTenemIdh HT6IH

1,3,10, 21, 64,129, 356, 777

a. 10 b. 21 c. 64 d. 356 e. aleowL  Oafwalsdensv
Simplify:
14 p5q3 _ 12 p3q4

2p’q 3¢°

a.11p3q®> b.3ptqg* c.3p3q? d.11p®q* e. Answer not known
F(HHGHB:
14 p5q3 12 p3q4
2p'q 307
a.11p*qg> b.3pq* c.3pdq? d.11pbg* e alewr Qzfwealsdenso

A number consists of two digit whose sum is 9. If 27 is subtracted from the original number,
its digits are interchanged. Find the original number.

a. 36 b. 45 c.54 d. 63 e. Answer not known

BOrenip DevHEmIBmeNd OCEBTemiL. @ elewienler EeubImIGaTET FmBHL 9. Db 6lemienilevl(HbH
27 m& PSS Slel6eumIdaTe Revbamidsen @b WIBelBL. 6elsd, DieIbaleiTemen s HTewID
a. 36 b. 45 c.54 d. 63 e. alowL Ozfuialsdamen

8.94x8.94x8.94—-3.56x3.56x3.56 s

8.94x8.94 +8.94x3.56 +3.56 x 3.56

a. 0.538 b. 5.38 c. 0.0538 d.53.8 e. Answer not known
8.94x8.94x8.94 —3.56x3.56 x 3.56

8.94x8.94+8.94x3.56 +3.56x 3.56
a. 0.538 b. 5.38 c. 0.0538 d. 53.8 e. alewL Oz fwalsbensv

The value of

6T LDGIIL| 6T6vT60T7
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TNPSC GROUP IV - TEST BATCH 2024

TEST XVIII - HOME TEST (TAMIL, GENERAL SCIENCE, MATHS)
APTITUDE & MENTAL ABILITY - SIMPLIFICATION

1 2 3 4 5 6 7 8 9 10
B A B C C A B C A B
11 12 13 14 15 16 17 18 19 20
A D C B B D B A C B
21 22 23 24 25 26 27 28 29 30
C C B A D C C A A C
31 32 33 34 35 36 37 38 39 40
A D D C A C B A C D
41 42 43 44 45 46 47 48 49 50
A D B C C C B A C C
51 52 53 54 55 56 57 58 59 60
B A B A C C B B C C
61 62 63 64 65 66 67 68 69 70
A D A A C A C B B D
71 72 73 74 75 76 77 78 79 80
B A D B B B B B C A
81 82 83 84 85 86 87 88 89 90
D D A A A A B C D C
91 92 93 94 95 96 97 98 99 100
B B C C D B B C C A
101 102 103 104 105 106 107 108 109 110
B C B D B B A B D D
111 112 113 114 115 116 117 118 119 120
B D A A D B C D B B
121 122 123 124 125 126 127 128 129 130
C C D B D D D D D C
131 132 133 134 135 136 137 138 139 140
C B C A A A A B D D
141 142 143 144 145 146 147 148 149 150
C C C C D B D C D B
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